) [pb/rad]

o
=
D

&
S

do/dminA @ (]

Ratio to ATLAS

o
|

0.08

0.06

0.04

0.02

[EEY

0.5

13000 GeV pp U
T~ T T T ] ] ! | | | A
B A@(lepton,jet) (ATLAS for leptoquark search) ]
[ m ATLAS -
— —4— Pythia 8.308 default o]
~  --*-- Pythia 8.308 tune-AU2 i
| - - Pythia 8.308 tune-AU2lox —
—— —-£-- Pythia 8.308 tune-AU2loxx ]
— —— Pythia 8.308 tune-AU2m i
_l | | | I_
:| T i T I:

| I I I I 1
0

min A (p(jo, ) [rad]

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


